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len (s) KEFFRSHKE len(“china”)=5

isupper(s) FIET FFFsEB/AKRE isupper(‘A’)IRE{EATrue
islower(s) FIMTZ s 2T ANE islower(’Z’)iR [l AFalse
ord(s) iR B F FFsBIASCIEL{E ord(‘A’)=65

chr(num) 1R [E num B2 89 £ 55 chr (65) =A
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[SRIEBIMEZEEE (—)

HiEDH: Bousdws—A5a02BATRPRE0 LN 2EHR, Fi, ¥
P b ta FldEH, bHetik, e, zflchi, RILABMED,

Mg EE: R, FHAKN
(1) IEFHE ‘a’ <=clil= ‘z »X: chr(ord(c[i])+3)

(2) XBF#F ‘N <=clil<= ‘27 n~X: chr(ord(c[i])-23)
(3) EfblEx: RISA%

I T

Hifth
&b -

F/NE=HagASCIRBS LEI=ASCIIBE=Fa F/INE=BAASCIIIES MaT=fFASCIIIBS=/4A o
HIASCIFBHIZ(ENN3, 526HA HIASCIFBHIZE(EDN3, 526H4 =

code=ord(‘a")+(ord(char) - ord('a’) + 3) % 26 Code=ord('A")+(ord(char)-ord('A’)+3) % 26 Blil=c[i]
b[i]=char(code) bli]=char(code) B
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#EXMEHE . HEZBHITNE B BEiFEahkeyfu, EMZEFFM0E -
def cipher (befmessage, kev):

aftmessage =

tor char in befmezzage:

1t char. isupper () : A E =B HTINE

code = ord( 4 )+ {ordichar)—ord{ 4" J+key) % 28
aftmessage = aftmeszagetchr (code)
e1if char.izlower (): #3:E =S #HTI0E
code =ord(" a" J+{ordichar) — ord( 2"} + key) % 28
aftmessage = aftmesszagetchr (code)
elze:
aftmeszage aftmessagetchardt = B LA E M= & 7 #4700
return aftmessage




[SRIEBIMEZEEE (Z)

HiEDH: Busdws—Asa028ATRPR60 530285 R, P, ¥
Pkt AdBik, bfetkik, o, Aok, XitABKESD,

I T N R
#3b d~z D~Z a~c A~C Tz

ASCIIE5+3 ASCIIES+3 ASCIIF8+3-26 ASCIIE5+3-26 s
|a|<=c[i]<=lwl or |A|<=C[i]<=lwl |X|<=c[i]<=lzl or IXI<=C[i]<=IZI

chr(ord(c[i])+3) chr(ord(c[i])-23) cli]

chr(ord(c[i])+3) chr(ord(c[i])-23) 'x'<=c[i]<='Z" or 'X'<=c[i]<='Z"




[SRIEBIMEZEEE (Z)

HiEDH: #AXTHE-A2ERTELAT TR N LN 2EER, Fli, #
Pkt AdEik, bAelkik, o, 2fchk, KHABMED,

BRER: pERiT#, FHAX

(1) ‘a’ <=clil<= ‘W or ‘A’ <=l[il<= ‘W 2 X: chr(ord(c[i])+3)
(2) 'x'<=c[i]<="Zz" or 'X'<=[i]<= 'Z'" »KX: chr(ord(c[i])-23)

(3) HBER: RIFAE

ASCIIES+3 ASCIIf5+3 ASCIIEE+3-26 ASCIIEE+3-26
a'<=c[i]<="'W' or 'A'<=c[i]<="W' 'X'<=c[i]<="Z" or 'X'<=[i]<="Z"

chr(ord(c[i])+3) chr(ord(c[i])-23)
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. [SEEIBRINE S A

iljd mingwen=input (%A ")
secret=""
h=8
while n<=len(mingwen)-1:
if 'a'<=mingwen[n]<="w' or 'A'<=mingwen[n]<="W":
secret=secret+chr(ord(mingwen[n])+3)

elif 'x'<=mingwen[n]<="z"' or 'X'<=mingwen[n]<='Z":
secret=secret+chr(ord(mingwen[n])-23)

else:

secret=secret+mingwen[n]
n=n+1
print(secret)
print("iz{TE8E, BEEIFEIE
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c=input ( “iBFHIANEIC: 7 )
b= )
for i in range(len(c)): #EMEXARTHNE—NFR, HEE
if 'd'<=c[il<="z" or 'D'<=c[il<="Z": #¥IBrd~zZD~Z A/ FT
b=b+chr (ord (c[i])-3) #4 B RASC

elif 'a'<=cl[il<="c"' or 'A'<=c[il<='C": #¥l|Hfa~cERA~ClHHIFEE}
b=b+chr (ord(c[i]) +23) #4 BRBASC
else:
b=b+c[i] #F UM E LA T
print (b)
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